Math 32B Midterm II Feb 28, 2020

Name: Jacon She,

ump: 005 340 50
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Instructions: You have 50 minutes to complete this exam. There are five problems
worth a total of 50 points. This exam is closed book and closed notes, and calcu-
lators are not allowed. You must justify your answers and show all of your work to
receive full credit. Simplify your answers as much as possible. You may lose points
for answers that are not simplified. Write your solutions in the space below each
question. If your answer continues onto another page, write an easily visible note
under the original question. You may use the last two pages of the exam for scratch
work.

Question | Points | Score
1 10
2 10
3 10
4 10
) 10
Total: 50




1. (10 points) Let Q be the region in the first quadrant of R? bounded by y = z,
y =2z, zy = 1, and zy = 3. Evaluate :
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2. Let f(z,y,2) =2 and F = (z — 9,y — 2, 2).
(a) (5 points) Compute
/ f($7 y’ Z) ds’
c

where C is the line segment from (0,0, 0) to (1,2, 3) in R,
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(b) (5 points) Compute

/F-dr,
c

to (1,2,2) in R®.

r) X ( 1 7—)
S Fly - \st) FOM = {1 0, ) (V) dy :'g(‘w‘ffuf :'[zw

\H\B 0 p

where C is the line segment from (0,0,0
el (4 r) oevel

Page 3 of 8



3. (10 points) Let C be the curve in R? parametrized by
r(t) = (et7,t6 S4B 1 tz)eSint> ,
where 0 <t <1, and let
F = (§+y,az—|‘—z,1n:v+y+2z) .

Evaluate
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4. (10 points) Compute the surface area of the portion of the paraboloid

Zz = 2$2+2y2
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5. (10 points) Let S denote the portion of the cone 22 = 3z? + 3y? lying over the

disk z% + y2 < 2. Calculate
/ / z2dS.
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You may use this page for scratch work.
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You may use this page for scratch work.
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